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Want to use cross section ratios:

normalize by total counts with
only helium
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Run Selection

Run Tgt x Tgty Tgt theta Tgt phi
3446 4.57 3.38 0.0636 0.0042
3448 4.62 3.30 0.0635 0.0042
3449 5.89 1.69 0.0619 0.0056
3503 2.09 1.05 0.0608 0.0033
3574 2.00 0.49 0.0601 0.0009
3727 4.75 2.30 0.0633 0.0049
3864 0.84 0.69 0.0608 0.0007

- Use “dummy” run in place of “empty” run

- Use production run in place of “packing fraction” run




Comparison of Data & Simulation
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Comparison of Data & Simulation
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Fitting Routine

Run 3446
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